1 BapPUaHT 2 BaPNaHT
(47 +53):2=M (62+38):5=T
30 * (42-38) =P 20 * (51-49) = U
75 :(450:90)=0 65:(350:70)=T
40 * (68 : 34) = A1 30 * (48:24) =E
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PaBHble OTPE3KM OTMeYarT
OVHaKOBbIM KONYecTBOM  *
_ YeDpTOoYEK:




9 EQnHnLbl n3MeperHus AnvHbl G

wiftefee

l cm =10 MM
1 iMm =10 cMm
Il M=10 am

1 km = 1000 m




NapoHs - 8 cM™ (4 nansua)
Manan nags - 18 cm
Nokore - 42 cm
Kocan caxens -2 m 48 cm
Bepcra-1km 67 m




WY

v/ [lpynaymaTtb CKa3Ky npo
OTpPe3KKn, KoTopas
Ha4YMHaeTCA CrIoBaMu:
«Xnnun-obinu gBa oTpe3kKa
pPa3HOU ANNHbI...»;

o Ne 88, Ne 91(a, r)







